
How to use these notes…

· As the basis of an essay on opposition.

The following notes are taken from the transcript of an Institute of Education lecture given in March 2003. 


Introduction

No one reason can, on its own explain such an involved topic. Rather it can only be addressed by considering the interaction of a series of issues. This lecture focused upon the following…

· The effective and extensive use of Repression by the Communists.

· The communists were more effective at obtaining the support of the elites.

· The opponents of the Communists lacked an ideology as powerful as those of the opponents of the Tsars.

· The opponents of the Tsars had much more success in mobilizing mass support for resistance than did the opponents of the Communists.

· The Tsarist regime was poorly led and undermined by successive international failures, whilst the Communist system was strongly –led as successful abroad.

The Communists used more intense levels of Repression

In many respects this is the most obvious point. The following spider diagram represents some of the areas that Lenin and particularly Stalin used more pervasive and intense repression… 
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It is also worth remembering that until 1905 the Tsars did have absolute power ~ at least in theory, and political parties were banned. Whatever Nicholas II thought of the Duma, the October Manifesto unbanned political parties. This contrasts completely with total ban of all non-Communists after 1917.

Edward Acton particularly stressed that when Communist power is consolidated, people must support the Communists to get keep their homes, jobs and to get an education for their children. 

Edward Acton concludes…

“Communist repression was truly totalitarian in its scope. The tsars never came close to this.”

The communists were more effective at obtaining

the support of the elites

The Tsarist period of our course (1855 to 1917) saw the rulers slowly abrade away the elites upon which it depended. For example, Hans Rogger refers to the Army, Church and Nobility as “the three props of the system” However, it is possible to suggest that…

· Emancipation broke the bond of mutual self-interest between the Nobility and the Tsar.

· The First World War broke the mutual trust of the Armed Forces and the Tsar.

· Dixon argues that Orthodoxy “started sending out young student priests to the factories, just in the same way as the Social Democrats were sending out their Marxist intelligentsia into the factories”. This culminated in Gapon’s procession to the Winter Palace in 1905.

By 1917 very few felt that they owed Tsarism anything. The Communists were not however not dependant on such old elites. Leninism-Marxism was a force of modernity.

This particularly helped them reduce opposition from within the education system. 

This is a crucial area to consider, as under the tsars, the universities had proved the main breeding ground for radical thought and opposition. Liberal, Populist and Marxist thought was led by students and lecturers. In part, this was because these talented people often felt excluded from real power and success by the rigidity of the absolute monarchy. 

The Communists greatly increased the student population, and tied many into a vision of a modern, great and youthful Soviet Union. For most in higher education, this dynamic and exciting future was very attractive. 

The opponents of the Communists lacked an ideology as powerful as those of the opponents of the Tsars

This leads into the vagaries of ideology. Whilst the importance of abstract ideas as galvanising forces is almost impossible to quantify, it was clear that by the start of the Twentieth Century the idea of Tsarism was outdated. 

However, opposition to Tsarism was very divided. Just because one strand of opposition (Bolshevism) was ultimately successful, we should not lose sight of the initial divisions in the so-called Intellegensia. Obviously there were differences in aims, but there were also differences in inspiration. Both the moderate Liberals and extremists Marxists looked increasingly to the West for ideas, whilst the Populists wanted a Slav-based revolution based on the Mir. 

Even within movements, different groups favoured different tactics. For example the ‘To the People’ Populists were a long way from the assassins of the ‘People’s Will’

The correct way to look at this is to suggest that these divisions increasingly produced “purer” movements. The culmination of this process was Bolshevism, and it was Bolshevism that ultimately triumphed. It had the advantages of…

· A focused ideology (Leninism-Marxism as put forward in “what is to be done”).

· Strong leadership.

· No association with the failures of the past.

By contrast, the opposition to the Communists…

· Was not driven by any ideology.

· Divided and poorly-led.

· Association to the failures of the past (eg the Whites).

Communist opponents often spoke the same language as the regime – Liberation. As such, they did not really seem to be much of an alternative.

The opponents of the Tsars had much more success in mobilizing mass support for resistance than did the opponents of the Communists

It is also important to accept that for an opposition movement to be successful, they needed to be successful in mobilizing mass support. Again, it needs to be stressed that many pre-1917 opposition movements failed to do this.

The best example of this was the Populists or Narodniks. The famous ‘To the People’ movement did not succeed on any level in changing the minds of the peasants. Rather, Socialism, one of them later said, bounced off the peasants ‘like peas off a wall’. This was partly the product of poor communications, and partly the consequence of idealistic leadership, which did not understand that the peasants blamed the landlords, and not their ‘Little Father’ the Tsar for their poverty.

However, the Bolsheviks did succeed in targeting the masses, particularly the urban working classes, or in the language of the Marxists, the Proletariat. When Lenin spoke of “Bread, Land and Peace” he showed that the Bolsheviks understood the three main concerns of ordinary Russians in 1917…

· Food in a time of great shortage.

· The Land Question ~ which the Liberal Provisional Government postponed until after the War.

· The continuation of a War that few believed in, less wanted, and was being fought with the lives of the peasants.

Lenin might have been opportunist here, but the key point is that it mobilized mass support beyond the natural supporters of his movement. 

Both Lenin and Stalin realised the importance of involving the masse against the State. It was much harder to mobilise support after 1917, against a system that claimed to rule in the name of the workers. 

Somehow Autocracy, Nationality, and Orthodoxy could not really compete with Bread, Land and Peace as a rallying call to the hearts and minds of the masses.

The Tsarist regime was poorly led and undermined by successive international failures, whilst the Communist system was strongly–led as successful abroad

Opposition to the Tsarist system was strengthened by the personal weaknesses of the Tsars…

1. Alexander II is described by J.A.S.Grenville as “indolent and indecisive.”
2. Alexander III is considered by Simon Dixon as “heavy of limb and heavy of brain.”
3. Nicholas II is described by Edward Acton as “simply out of his depth.”
This is hardly a roll call of honour. Opposition always thrives in the face of weak leadership, and the personal flaws of the autocrats reflected badly on the system of autocracy itself. 

This clearly contrasts with the ruthless leadership of Lenin and Stalin. Both men fought to obtain their premierships, and both albeit in different ways, dominated their systems of government.

Tsarism was also hampered its association to successive military failures…

· The Crimean War.

· The Russo-Japanese War.

and particularly the disasters of Tannenberg and the Masurian Lakes in the

· The First World War.

All combined to erode confidence in the Tsars.

Equally…

· Lenin and Trotsky won the Civil War.

· Stalin had managed by the end of his rule to convert the Soviet Union into a country which could win the Great Patriotic War.

This gave the impression of a successful leadership.


Why were the opponents of the Tsars from 1855


ultimately more successful than those who opposed the Communist regime after 1917 ?
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Hence to conclude, to answer the question…








Why were the opponents of the Tsars from 1855


ultimately more successful than those who opposed the Communist regime after 1917 ?








The most important reason is clearly the scale and scope of Soviet repression. However, this will not answer the question on its own. 





You should also be able to write on the issues of…





Ideology and unity.


Support from the Elites.


Support from the masses.


Leadership qualities.


Foreign policy failures.





Make sure that you understand these points, and can write a paragraph on each…





To use this effectively you must be able to deploy examples from both the Communists and the Tsars.


Which of these measures do you consider to be most effective ? Is there a difference between Lenin and Stalin here ?





In a seven paragraph answer, each of these points could by a paragraph. You need to consider therefore the relative importance of the issues discussed here.





Areas where there was more Repression of Opposition under the Communists
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